MAT 099 Test 4

PN
100 Points Name k&Y
1. (2 pts each) Evaluate each of the following:
a. —2° = -+ d (-2):--8
b (—2)2 :L,L e —20 = |
c. -2° =—8 £ (-2 = |
2. Simplify each of the following and writing using positive exponents. c
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3. Write each of the following in standard notation:

a. (2pts) 3.6x107° b. (2pts) 2.3x10’
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4. Write each of the following in scientific notation:
a. (2pts) 0.0000000003278 b. (2pts) 1,333,564,213
3.2+8 y\.B‘O —1.2335e¥2(3 % lOC’

5. Perform the indicated operation and simplify. Express final answer in scientific notation.

2.3%10° 2.3 ¢-C3) -
s Opls) ——— = e %O - 28 xi0
2 (Gpts) 3.6x10° T 3.6 % =, 38 X
. 8 (22
- 6.3% x 10 Sk
- | e-3 e
. . g O
b. @pts) (23x10°)3.6x10%) = (2.)(3.6) x 10 %
3
- 8,28x10
6. Let P(x)=3x>—2x+5. Find each of the following:
o Qo) PQ) = 3(a) -2 ks = I2—f4sT =3
S
, | L _ % 5 = -
[ 1> - == e 3
b. (2 pts) P(%) = 3(5) ’2'<3> +5 ) 3
{ ISA ‘LIL
z =5 k= = =
= ) c! 2

7. Perform the indicated operations:
a. (2pts) (x2 —3x—2>+(x3 -2x’ +6x—7)
‘%
= X i3x 9
b. (2 pts) (x2 —3)(—-2)—(363 —2x" +6x—7)
= y = 3x -2 —xXr XY bxd

= g’ b3 A Ay
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d. 2pts) (x—=2)x+7)
= % A4S - 1y
e. (2pts) (x+3)(x>—3x+5)
=3 W 4w &
— F357- Ax H1S
= x? -Mw +IS
£ @pts) 2x-3)2x+3) = Hx=9

g. 2pts) 2x-3f = \{%7’,2.(1%\(3)+ 3% = Yy —2x+ 7

h @) x-GyeDf = (2O)T= (@) (G, +0 N

= S

v /({\L'L- 2xyg — Gy + 4‘71 {'6’7 + =

i @pts) (x+y)2x-1)(x+1) = ()(4.—11.)('2)(-\3()(‘{—l‘) £ (x-#ry)(lx 4_><_1>

7L
= 1\(3-—F X = A 417\1?-1—7(9 —-j

8. Factor out the GCF:

3 L 4—\]
a. (2pts) 6x° —8x*+2x° = 2 x [35‘ X
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b. (2pts) 6x(2x—3)+52x—3)
= (’LX"%B(Q' )SL{-$~\
9. Factor by grouping:

Y = (% Ps-B(x~3)

a. 2pts) x> +5x-3x—15 = x (x5 ) =3 (x5

b. (2pts) 5x* -10x-x+2 = sk (- n) — 4 (x-2)
= (X"?«\) Cf)(—'>

c. 2pts) 12xp+18x+2y+3
= G X(Q—(j £3) + 1 (24 13) = /274,3') (G x+ 1)

10. Factor each trinomial.

a. 2pts) x> —5x+6 — (X -2) (X“3>

b @pt) -5 = (x—6) (x 1)
(nl\(‘ll\ = 725 L
=~ (2) (#)
[/ 17 c. (2pts) 12x* +4x-21 4@ ~ = (’)ﬂ
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d. (2pts) (Bx—2) +5Bx-2)+6
uHLs u i G

— Lot DA D :((% - 2) 43 B x—242) = (Bx+)(3x)

QL
e. 2pts) x> +6x+9 = (X‘F%B
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f. (2pts) 3x* —36x+108

= & o e 42355 )

=3l x-6)

11. Factor each binomial. 7/@:1 77:%90
a. (2pts) x =16 ’Ltjiﬁé l0d c. (2pts) Sy3 =8l == (11 3— 27’>

N 219D 2{?0
= (x—H)(x—L/) 2[4 cbs _:3(9,33(.711L 3y Fq)
b. (2pts) 72x> —200 3 <
_ %(7%1— 15’} d. (2pts) 8ab®+274"

, 7
-a|eb’2?s

— 2 E@_éupga)(qb?’_ G"&A + c’{.&""ﬂ

- e(3x +§’S<?x—5‘)

12. Solve each of the following equations by factoring.

13. (4 pts) x> =5x+6=0
(y——z}(y«*%) =
‘)( ._’L ":.D 0ﬂ %-—3 :O
x=% oR *=3

14. (4 pts) (x—2)(x—3)=12 «=C on %= \\

x5 wt+ b = (2
iyl =C
(x-€)(x +D =0

e
— e
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15. (5 pts) 8x% —26x+15=0 Cg}('s J= 5(@;
S G

G x —20x -lx +(5 =0 —
qy[z»c—s’“}*%[‘zx—s’} =
(xS (¥x-3) =©

or Yx-3=o0
Yy =5

2%-S =0

16. (5 pts) John is a math geek who also does a lot of outdoor art, including spraypainting
murals on the sides of buildings. After finishing a 10-foot by 12-foot mural on the outer wall of
a local grocery store, he decided to paint a frame around the whole thing with green paint. He
has a fresh can of green paint, and intends to use the whole can for the frame. From experience,
he knows that he can cover 104 square feet with one can of spraypaint. How wide should he

make the frame?

("24'2")(10+2x') ~ ('O?(:‘L) = (oY
2€ x+L)(R)xes) — 120 =10 ¥

Y (WP lix+30)—214 =0,

YT Y% + 20 —224 =O

M=o et Uyt rHYx 104 =9
- = e %[{Lﬂtux—a&l’io
x= et o £ L Tt i3e-2x—26 =©
borelen (. QCu.#)  (x £ (R)=2 (x113) =O

(‘x +l%'>C><“‘7—3 —
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